In this week, I focused on how to synthesis an If.

It has two situations. One is for the combinational circuit, and the other is for the sequential circuit. The combinational circuit is easy to be synthesized, since just MUXes are added in.

As for the sequential circuit, it also has two situations. One is for the synchronous design, and the other is for the asynchronous design. The synchronous design means the clear signal and the reset signal just effect just when clock happens, while in asynchronous design, the clear signal and the reset signal effect at any time. 

So far, I have understand how to synthesis a blocking assignment, how to synthesis a non-blocking assignment, how to synthesis a register and how to synthesis an implicit latch. The latch is synthesized when the "else" is left out.

I just have some problems about the asynchronous design. When I synthesis some design by myself, I find that the result is not correct. I'm trying to find some way to solve it now.
